Chemistry 333 Name:

Quiz #2

1. (10 points)

State whether the following reaction is non-enantioselective, partially enantioselective, completely
enantioselective, non-diastereoselective, partially diastereoselective, and/or completely diastereoselective.

Describe your reasoning clearly and succinctly.
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2. (10 points)

State the relationship between both of the following pairs of structures (identical, enantiomers,

diastereomers, structural isomers, conformational isomers, or different compounds that are
not isomeric). State your reasoning concisely.
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